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SN MSXIA
o HHSAAH (MSKIAD(IIEHIIE)
CHol: ol g (Er9l & @
SN ZM - SA(BH) - MRAY - BES Ab ok dla = o
Ofl &t o
O SH 62,400
Og=s(42) 5,200,000& x1Z x12& 62,400
OsSH 159,410
Os3 (262 8) 2,871,900& x2F x12E 68,926
o= (172 8) 2,167,400 x1Z + 123 26,009
or=2(11&s) 1,661,600 x 18«12 19,940
OJls82 (208 8) 1,855,600 »2& «12& 44,535
ao=2 13,285
odz2=+¢ 159,411,000& x1/12 13,285
=g 49,440 50,012 ADB72
DAt 22 +E 29,924
OFSEL 8,312 x6B x10AI 2t * 123 5,985
Ox=1=2 8,312& +6H x40A| 2tx 123 23,939
Housg 19,516
ONE+Y 5,108
- S Xt 40,0003 «7E+0.78+12& 2,621
- B20H=E 20,0003 x7H x1.48x12& 2,487
OXtHstdl=¢& 2,179
- S 59,4003 «7H+0.19%43] 317
-ussHd 443,100 7 +0. 15+43] 1,862
(OFSE=Et= o) =1 9,000
- 2538014 130,000& 3 x12& 4,680
- 20 0] A~25 0] 2
110,000& »2H «12E 2,640
- 15801 &~204 0] 8¢ 80,000& x1Z ~12& 960
- 1001 &f~15= 01 60,000 x1&~128 720
ogezeasry 1,069
-Jls8s 1,855,600% *4.8/100*12& 1,069
OJlzgesy 960
-55 50,000 x1&x128 600
A= 30,000 x1& =128 360
OJl=g =itttz 30,0002 x2&H x 12 720




SN MEXA
HE: BH2AAY (NS XA (OIEHIIEH
Sl Ol 2| (5l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
ONSHeHLIHY 2+
40,0009 +1%+122 480
03 FUZAH] 10,920 10,920 0
O™ gl 13,0002 %72 122 10,920
04 DEBEH] 9,360 9,240 120
minEES: 9,360
0462 140,00021 x22 122 3,360
0672 13,0002 x224 122 3,120
0830l 10,0002 ¥22 122 2,880
05 YEEIM 15,942 14,997 945
mEEEPIT 150,411,00081.2/12 15,942
06 JIHIXIRH] 26,622 24,994 1,628
DOk Xl 2] 150,411,0002*16. 7% 26,622
07 o1OhB A 11,708 10,948 760
e oh2 Al 18,485, 00024 %1/30%19 1,708
203 YREIH] 6,580 6,240 340
01 JZSYHLFAY| 3,300 3,000 300
04X (43) 3,300
00 FA}MALFY| 280 240 40
DYt R =Y 280
OF AT b 280
04 SHSYARFIY| 3,000 3,000 0
(1152401 5 250,000 * 122 3,000
204 ML 50,460 45,720 4,740
NEEEEEESEL 4,800 4,800 0
mPEs 400,0002 %12 %122 4,800
02 XXM 42,060 37,320 4,740
Ox22 x| 42,060
043 400,000+ 1% * 122 4,800
053 250, 00091 *2% + 122 6,000
062 155,002 %1%+ 122 1,860
073 14,0002 %124 %122 1,680




2N MSXA
Ha: ANSYAL (MSKIAD(IEHIIE)
ol ol e gyl (crol: & 2
_ _ - NEc
SN Y CA(EH) - MRAY - BHS Ol &k o il ot o Hus2
08201 3t 105,00021 x2% + 122 2,520
ONMEMNELZREE 300,000 «7H x12& 25,200
03 SHYRLBHSY| 3,600 3,600 0
CcHel g =l 50,0003 x6H «12& 3,600
308 EaZz 1,920 0 1,920
01 Z&3 1,920 0 1,920
09 R0 SHI 80,0003 »2H «12& 1,920
Jl23d| 411,038 79,912 331,126
122l 411,038 79,912 331,126
201 Ygr2gy| 403,138 69,912 333,226
01 AtR2teltl 380,650 48,660 331,990
Ot~ 9,100
OJl=2MNeESTY 150,000& =12 1,800
(@RS PNE=E == 15,000& x10&+12& 1,800
OLRBEHLHNES 500
OMNALFSIUBNLS2
1,000,0002 *55 5,000
mEEE] 7,350
O AR Z=A S A 7,000& x7E 150 7,350
(] Xty| 364,200
OFASAUXBE2 (M)
150,000,000 x2S 300,000
OFA=AURBE2(QAA)
18,000,000& 3= 54,000
ORU=AATH( ) 10,200
02 ==29gHl 22,488 21,252 1,236
OZZQ3LMAl 21,288
OHER (YWY SHFS)
70,0003 x50« 12& 4,200
OdzsdMER 20,0003 23| & +12& 480
OSAYASZ(AHY)
33,0003 +8=2| & +12& 3,168
OCATV==AI 2 20,000 1CH~ 122 240
OAtR a2l Y| 1,100,000 * 1224 13,200




M ASXIA
HH: HAH2AZHI(MSXIAL)(JIEH/DIE)

ool |22 (S de)
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

DA & EHIS Xl 1,200
OMBINIISAE=HI 1,200

202 O4Hl 3,000 3,000 0

01 SLUAHbI 3,000 3,000 0
O=Waobl 3,000
ONSAMNEPARIHRN AN 3,000

405 XH&HFSHI 4,900 7,000 A2,100

01 XML EEHSHI 4,900 7,000 A2,100
OaL =S HSHI 4,900
Ooelrzz=®H 1,000,000& *2CH 2,000
OLCOE LIH 450,000& »2H 900
OCI A& 3toi 2H(DSLR) 2,000,000& = 1CH 2,000




